



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$(-10)^{(-2)} + 8 =$$

$$(-3)^2 - 5 =$$

$$8^2 + 8 =$$

$$6^{(-2)} - (-5) =$$

$$5^0 + (-2) =$$

$$10^{(-1)} + (-10) =$$

$$1^{(-1)} - 9 =$$

$$(-8)^{(-2)} + (-3) =$$

$$(-3)^2 + (-6) =$$

$$(-4)^{(-1)} + 9 =$$

$$10^{(-1)} - 7 =$$

$$7^{(-2)} + (-3) =$$

$$9^{(-2)} + (-8) =$$

$$7^{(-2)} - 3 =$$

$$(-1)^{(-2)} - (-9) =$$

$$3^{(-2)} - (-8) =$$

$$(-1)^2 + (-2) =$$

$$(-6)^{(-1)} + (-5) =$$

$$(-4)^{(-2)} + 10 =$$

$$9^{(-1)} - (-10) =$$



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$(-10)^{(-2)} + 8 = \frac{801}{100} = 8\frac{1}{100}$$

$$(-3)^2 - 5 = 4$$

$$8^2 + 8 = 72$$

$$6^{(-2)} - (-5) = \frac{181}{36} = 5\frac{1}{36}$$

$$5^0 + (-2) = (-1)$$

$$10^{(-1)} + (-10) = \left(-\frac{99}{10}\right) = \left(-9\frac{9}{10}\right)$$

$$1^{(-1)} - 9 = (-8)$$

$$(-8)^{(-2)} + (-3) = \left(-\frac{191}{64}\right) = \left(-2\frac{63}{64}\right)$$

$$(-3)^2 + (-6) = 3$$

$$(-4)^{(-1)} + 9 = \frac{35}{4} = 8\frac{3}{4}$$

$$10^{(-1)} - 7 = \left(-\frac{69}{10}\right) = \left(-6\frac{9}{10}\right)$$

$$7^{(-2)} + (-3) = \left(-\frac{146}{49}\right) = \left(-2\frac{48}{49}\right)$$

$$9^{(-2)} + (-8) = \left(-\frac{647}{81}\right) = \left(-7\frac{80}{81}\right)$$

$$7^{(-2)} - 3 = \left(-\frac{146}{49}\right) = \left(-2\frac{48}{49}\right)$$

$$(-1)^{(-2)} - (-9) = 10$$

$$3^{(-2)} - (-8) = \frac{73}{9} = 8\frac{1}{9}$$

$$(-1)^2 + (-2) = (-1)$$

$$(-6)^{(-1)} + (-5) = \left(-\frac{31}{6}\right) = \left(-5\frac{1}{6}\right)$$

$$(-4)^{(-2)} + 10 = \frac{161}{16} = 10\frac{1}{16}$$

$$9^{(-1)} - (-10) = \frac{91}{9} = 10\frac{1}{9}$$